SuMPO EPD

SuMPO

VEPD s 7umpss (erp)
Z5&ES © JR-AI-25330E

VERIFIED

RICOH

imagine. change.
HAE)a—

RICOH COMPANY,LTD

BEHA
BRIBHLY

BEI REPE
L a0 Ol fE it
[RFRIRE, A, T8,
M- MR EE, BE- VY1)

HROBR, TEMLK T
Az : RICOH IM 3510
(DF3140/FAX1Zwk 91 TM6 125 1)
FTEAERK-FET
EAEH EPAR)
-£/7035%/% (A4)
< FUY/AE-/ A%V [FAX
- BBRTES AV
- B B i [ FN i BE
ERARAEYAX A3

E[AY=Y oiclv
AV I- FERHLAHXFEAT-3-6

https://www.ricoh.co.jp/

SUMPOIRIESAINTOT S A
— R RN AT IR E HEE RS
RRETREXAMHET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

BE&REHEPAR)

RICOH IM 3510
(DF3140/FAX1 =Yk A TM61%E & F)

2

ICOH

-

)
L
(‘ J e
HERICEENSIYF-1EY PALE,

LXEPDOLCABEEXRRICFEFNTVER A,

EHRES JR-AI-25330E
EAPCRES  PA-590000-Al-08
PCR% CIEYNG: DAl 7
NS 20254128 23H
WIEE®E 202511878
REEA VAT LRIEA R
RALES JV-AI-25330
IRIEEEAR  2030F1186H

PCRLE1I-DEfE
REHBZ 2023F9H1H

ZER #ll Sz

— R BEAY AT T IR B HEE
B E IR
NERIRFLE NHE #®z
ISO14025(ZHE >R B E R UT—F DIz LR EE

OAER W AER

* 257 AR ESH B LANORIOS AL, VAT LARFET>LEEEDS
BI%ESH,

BEE (03)3777-8111 (f&%)

Z5ES © JR-AI-25330E


https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/

SuMPO EPD SUMPOBRIESNIVTOT S5 s

eaRES — R FE A AT IR R
o .'OE PD S4TNIBIEEE (EPD) EREBT AEXAHE-14-8
WERIFIED KANDA SQUARE GATE
Z#&ES © JR-AlI-25330E https://ecoleaf-label.jp
0% 20% 40% 60% 80% 100%
SUEZE) IPCC 2013 GWP 100a 570 | kg-CO.eq
[k dd 0.69 | kg-SOzeq 6
ERHE 050 | kg-Sbeq
B OFEMHE QK = Q&
EOFER-HEEE sQRE-UYAIL
F I5H By =1 OERMEIFE Q%E QB | OfER-#isEE| OEE-UY1II
SUEEE) kg-CO.eq 5.7E+02 4.5E+02 1.7E+01 3.0E+01 5.6E+01 14E+01
73214 kg-SO.eq 6.9E-01 5.0E-01 6.5E-02 5.8E-02 5.5E-02 1.3E-02
BIREE kg-Sbeq 5.0E-01 5.0E-01 8.6E-05 1.3E-04 4.5E-04 3.9E-05
® T 3 2 25 - R ZEE L
I5EH Bify mH-E (ERES) Hifif
FEBEAIREEIR 6.8E+01 kg SuUS 4.8E+00 kg
BEARER 7.2E+01 kg PIVIZUL 7.0E-01 kg
5@ 3.3E+01 kg
Z0thEE 6.5E+00 kg
# AT B AR 3.4E+01 kg
R AL A RE 9.0E-01 kg
A3 1.9E+00 kg
A 6.4E-01 kg
T 1.9E+01 kg
pEap=pal 1.6E-02 kg
RE[E R 9.6E-01 kg
A 1.5€-02 kg
Z0fth 3.7E-02 kg




SuMPO EPD SUMPORRIEINI OIS A

SEuM":’,OD _ —BAEEAYATH IR EHEE A
1 pEPD 17T NBREEE (EPD) R REEHEL 14
VERIFIED KANDA SQUARE GATE
Z#&ES © JR-AlI-25330E https://ecoleaf-label.jp

GOEEHEICEATZEMIER

-BEEECAVWRYTUACBVWGEIRLEE R
- EEHEPAHR)

-BEOMtRFE : B

-AEEEFAEAM : SER

AT E RN ¢ 182,400803%
KERIRINF-AT-TOJ5LIEVer3 00 E EH =% E A

‘EREDEE (BRI O&REET ELTWERA,

©-1.Z Dt DIRIFEIEIF IR

“BRINROHSHE W ICHEML TV ET,

A OB EEL, FEBRTHIFAMAE. MF-DEERISO14001FFEEEUE THICTITHN TV,
FRELES 1 JQA—E-70001, BSI-EMS765926
https://jp.ricoh.com/sustainability/environment/management/iso

DERLEZRT-9DEZR A
IDEA v3.1.0, LU, TOVSLEFREMVIISEFERLTVNED,

®fE

O -YHEDH LR, PCRELVETE - EEREESRL LI,
OLLRIDOVTE BEE - EEREBICRESNEZHEHELIESEICLARDONEEA,
(BH5EURL : https://ecoleaf-labeljp/regulation/)
F#xES ¢ JR-AI-25330E



